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(JASLS D RAVE—R)

B 9 EEREE R 2B | [ B (W5 |ES |- EehEmEsn |BEUE
9 : 000 |77V |WFETAY-IEER R 1%:8| 2 |2 1 1 1.53 1
9 : 203 |57V |2BARHKE— 3HRE CR  |#EREE| 9 |9 11 2 2.86 2
9 : 539 |77V |WLFETAY-IEC C 158 2 |2 1 1 1.53 3
9 : 742 |77V |&BAXH#E— CHkER(CP) [CP 1%&| 6 |6 11 2 2.86 4
9 :10.78 |77V |UETAY-FER R RESEE 2 11 2.78 5
9 : 14.06 |57V |2 BARHE— 3HREK CR RGN 6 11 2 4.36 6
9 :18.92 (57V [WWFETAY-PEC C RIBEL| 2 1 1 2.78 7
9 :2220 |57V |2BARH— CHE(CP) |CRP [RiEHE| 6 11 3 5.94 8
9 : 2864 |57V |2 BARHE— 1#RE SR R 7|7 1 2 2.86 11
9 : 3200 |57V |&BAH#E— DIRER(CP) [CP R 10 |10 1 2 2.86 12
9 : 3536 |57V |ZBARH— CHE(SR) |SCR [#ERRE| 11 |11 11 3 419 13
9 : 4005 |24y | & BAKK— 4HREL WT 1%%E| 3 |3 1 2 2.86 14
9 : 4341 |57V |EHAH— BikE SCRP [#EiRf%| 10 |10 11 4 6.52 15
9 : 5043 [57V |EHEAH— 1HRE SR REBE| 6 1 2 4.36 16
9 : 5529 (57 [&HBHA#H— D#KE(CP) |CP REBE| 6 1 2 4.36 17
9 :60.15 |57V |2 BAH#— CHE(SR) |SCR [RiEH| 6 1l 3 5.94 18
10 : 6.59 |R4y | BAHE— 45 WT  [RRgHEL| 3 1 2 4.36 19
10 : 11.45 |57V |£BA#H— Bk SCRP [iRE&E;| 6 1 4 7.52 20
10 : 19.47 TAU—MEER,J3L, 7 AY- B C,UCLFR B = 10
10 : 29.47 A5 —\)L 5
10 : 3447 |77y |2 BARH— 28KE SC 152 3 |3 1 2 2.86 21
10 : 37.83 |77V |ZBA#Hi— DR (SR) (SR R 10 |10 1 2 2.86 22
10 : 4119 |77V |2 BARH— AR SCRP |1%:% 4 |4 11 4 5.52 23
10 : 47.21 |57Y TSRO =7 AfREL SP 1%2E| 6 1l 2 2.86 24
10 : 50.57 J1LJDL,JCL.J4S,JBLF & = 12
11 : 257 |77 |2BAH— 28E ¢ REBEE| 3 1 2 4.36 25
11 : 743 |37 |[2BA#H— DIRE(SR) |SR RIBEE| 6 1 2 4.36 26
11 :12.29 |77 |2 BARH— ARRE SCRPJ|:RESE;| 4 11 5 9.1 27
11 :21.89 |77V |TSUR =7 ASREL SP REEE| 6 1 2 4.36 28
11 : 26.75 TEVARN—av(EBA#H—ARSTUEBBE) 5
11 :31.75 J2L,JDL,JAL,GALE &= 10
11 : 4175 A253—\)L 28




B 9 EER FBE | [ B |HiGHE|EE (e sk B R BUE
12 : 9.75 |A4y |ILFETRY—bEEW w 1FE| 2 |2 1 1 1.53 31
12 : 11.78 |A4y |ILUFETAY—PEET T 1FE| 2 |2 1 1 1.53 32
12 : 13.81 |A9Y TSR =7 CHRE WF EREEl 9 |9 1 2 2.86 33
12 : 1717 |A4y |ILFETRY—PEEF F 1FE| 2 |2 1 1 1.53 34
12 :19.20 |R4y |WLFET AY—PEEW w REsEN 2 |2 1 1 2.78 35
12 : 2248 |A4y |ILUFETAY—PERT T REER 2 1 1 2.78 36
12 : 2576 |A9Y TSR ZF7CRE WF REEEL| 6 1 2 4.36 37
12 : 30.62 |R4y |LLUFETRY—PEEF F REGE 2 1 1 2.78 38
12 : 33.90 |R4Y |T SR =T7B#REL TF 1%:&| 13 |76 2 2 6.12 41
12 : 4052 |A4y |2 BAH— DIREL(WQ) |wWQ 152 | 24 (1212 2 2 6.12 42
12 : 47.14 |29y TSR =7 DRk WT 1%% 6 |6 1 2 3.06 43
12 : 50.70 |R4y |£BAH#H— SRE WT  |EEREBE 12 |12 1 2 2.86 44
12 : 54.06 R4y (TSR =7 BiREL TF R 10 1 2 2.86 45
12 : 57.42 |29y |2 BA#H— DREL(WQ) (WQ  |ZEREE| 12 11 2 2.86 46
13 : 0.78 DASs o1y 3

13 : 3.78 |A4y | SR =T D#kE WT  |GREEEE| 12 1 2 4.36 47
13 : 8.64 |24y |2 HAH— 3K WT  [iREEEE| 10 11 2 4.36 48
13 : 13,50 |R4y (SR =7 BiRkE TF RESEL 12 1 2 4.36 49
13 : 18.36 |24y |2 BA#H— DIREL(WQ) |(WQ  [REsE| 6 1l 2 4.36 50
13 : 23.22 TA—-MEEW, 7 RY—}ERT,GCS, 7 A - M FRE K 10

13 : 33.72 A25—8\)L 5

13 :39.22 A4y |ZBA#H— DIREL(TF) (TF 1%E | 28 (1099 3 2 9.18 51
13 : 48.90 R4y |£BA#H— CHE(WQ) (WQ 1%E | 27 (999 3 2 9.18 52
13 : 58.58 |A4Y | &2 BAH— BIREL WTQ |1%F:& | 24 |1212 2 3 9.18 53
14 : 8.26 |A4y |£BAH— DIRE(TF) (TF 2F%E | 18 (99 2 2 6.12 54
14 : 14.88 |A4y |£BA#H— CHRE(WQ) (WQ 2F%E | 18 (99 2 2 6.12 55
14 : 2150 |24y |£BAHE— 28k WQ  |EERER 11 |11 1 2 2.86 56
14 : 24.86 |24y |£BAH— Bk WTFQ [ZEREE| 12 11 4 5.52 57
14 :30.88 |R4y |&£BA#H— DIRE(TF) (TF ZEREE| 12 1 2 2.86 58
14 : 3424 |24y |£BAH— CHRE(WQ) (WTQ |ZEREE| 12 11 3 4.19 59
14 : 38.93 |A4Y |2 BARH— 28RE WQ  [RRHEE| 6 1 2 4.36 60
14 : 4379 |A4Y |2 BAH— BIREL WTFQ [iRRHEL| 6 1 4 7.52 61
14 : 51.81 |4y |£BA#H— DIRE(TF) (TF RIGE| 6 1 2 4.36 62
14 : 56.67 A4y |2 BA#H— CHEEL(WQ) (WTQ |iREEEK 6 11 3 5.94 63
15 : 3.1 A5 —\)L 15

15 : 18.11 |R4y |ZBA#H— CHER(TF) (TF 1%:& | 32 |11,11,10 3 2 9.18 65
15 : 27.79 |A4Y |2 BARH— AfRE WTFQ (1% | 13 |76 2 4 12.24 66
15 : 40.53 GDS,J3S,GBS,GDSE E = 10

15 : 50.53 £ HAH— CHRE(TF) |TF 2%E | 24 12,12 2| 2 6.12 67
15 : 5715 |R4Y | SRS =7 AfRE; WF 1% 4 |4 1 2 3.06 68
16 : 0.71 |A4Y |Z2BARH— 18RE WF AR 11|11 1 2 2.86 69
16 : 4.07 2 AaAH— ARRE WTVFQZEREE| 10 11 5 6.85 70
16 : 11.42 2 HAH— CHRE(TF) |WTF  [ZEiRBE| 12 11 3 4.19 Al
16 : 16.11 5SURS =7 AR WF REEL| 4 1 2 4.36 72
16 : 20.97 EA =N b1 WF RIGEL| 6 1 2 4.36 73
16 : 25.83 L RAAH— AR WTVFQiRR%EL| 6 11 5 9.1 74
16 : 35.43 2HA#H— CHRE(TF) |WTF  [RESE| 6 11 3 5.94 75
16 : 41.87 TEVAMN =3 EBAHE—ARRIV T —FEBE) 5

16 : 46.87 J2S,JBS,JDS,JCS,GAS,J1S,JAS, JCSRE R 18

17 : 487 HEN =T+ 60

18 : 487 ETRRE]




